HHEHY IO T
= —[g]

=S A b |
=Y ¥ D S

==
=]

him Z(JIT
i mi




TZILTYXLEMREE

e ZILTYX L

Bzont=-7—49mn: TAH]
RIDIEERZ: TH A
ROMFHT or fFYHT : [ FxE]

BT T — AR (ZGEYDDHYET 1 !



I 4|V
— iD=

FILTYRLEGHEE

1) X Ly

1 %E"]fd: [ RE %]

. HES

FZILTYX LD

(T5HE 1 =

=T )L1E

FD

=

im
it

- FEICSRIA

RS IR I BTG

160

)




7IL3) X LDFcuk

. TE%%K 3,8,16,4,9 OBRKIEERDS]
e EEZXL\VOILLVES
NEFICKRELGEELDETRATHL

e AR 4
BHIDERmTSEL

STEREADONSKIITEE R



7ZILdY X LDER i

&é*ﬁl# 1 %'ﬂ:
(Iumétﬁsﬁ RED)INSUARETY
AN EDEME n & nBDEHHE
H 0 X, %, ... x, OFRDFEKIE
FrE: 1.y < x

2. fori 2 until ndo

if X, >ytheny < x,
3. returny
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1.y < X4
2. fori2 until ndo
if X, >ytheny < x

3. returny

f(n)=(n-1)(b+c)+a+d
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N 1,000 1,000,000
O(1) IHAER) |1 ms 1 ms 1 ms
O(logn) |© 1 ms 7/ ms 14 ms
O(n) O 1 ms 1 sec 17 min
O(nlogn) | O 1 ms 7 sec 4 hours
O(n2) A 1 ms 17 min |30 years
O(n3) A
O(cn) X
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